Stat 2470, Qiz #11, Fall 2014 Name K é—;\r

Instructions: Show all work. Use exact answers or appropriate rounding conventions. If you use your
calculator, you can show work by saying which calculator commands you used.

1. Arandom sample of n=15 heat pumps of a certain type yielded the following observations on
lifetime (in years).

1 0.4 1.0 5.3 1.9
1.8 12 5.3 0.6

a. If we assume that the data is normally distributed, find the 99%, 95% and 90% confidence
intervals using the t-distribution and appropriate degrees of freedom.
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b. Calculate the 95% prediction interval for the next measurement.

;Z = ":oya, n-1 3 m— lw-%‘% =§z_/" 2.%.(- = 3.§%
; n—{= IS-\ =\
T (425, 14) = 2. 14478 66SI

QA4S
| Vow Sz K =4.1S3
S = 4 §4bkb?

X T s 4s4e6® Jl+72 = X Ll0.0F

I

4.153~10.67
A{—' l(ga + IO .O.'}

517 ( Hme cart ke Mskmsol‘mulmo)
14.223 (O, l‘(-')—?-%) }‘I‘ﬁmdaﬁ.wﬁwﬂ;

h



